Al A

A NS L&
S TAHE2RE
CHRl: TAIHE 212 (crol:®2l)
S - B - 2I(B)H) - HRA - BES Ol o ol =) e GmE=l
PN 37,160,879 35,943,637 1,217,242
= 48,760 11,800 36,960
s 10,470,000 11,173,000 A703,000
S 200,000 0 200,000
== 1,911,292 2,121,320 210,028
= 24,530,827 22,637,517 1,893,310
SAIAE 2 831,700 267,700 564,000
SAIAE 2l 831,700 267,700 564,000
SAHEHR2Y 39,700 39,700 0
201 Let23Y| 17,100 21,100 4,000
01 At22t2ltl 17,100 21,100 A4,000
o=—ni= 0 0 4,000 A4,000
308 XXIHHMSOIM 4,000 0 4,000
13 S |2 S0ICHEHE A HIEAIY| 4,000 0 4,000
origsaz 2,000,00024%235] 4,000 0 4,000
=22 A& (THEL]) 739,000 175,000 564,000
401 Al&HIZ 20| 739,000 175,000 564,000
01 Al&HI 739,000 175,000 564,000
02030 AtEZ22|HE MHEEl L &2
g =g 29 524,000,000 524,000 0 524,000
OJ|=8stgeH g 9 40,000,0002! 40,000 0 40,000
S AITHAE 7,382,949 6,404,349 978,600
as 75,000 75,000 0
S 200,000 0 200,000
== 43,500 43,500 0
= 7,064,449 6,285,849 778,600
KEIss ZAD|IBES 5,740,172 4,765,172 975,000
as 75,000 75,000 0
S 200,000 0 200,000
== 37,500 37,500 0
= 5,427,672 4,652,672 775,000
SAIRASE HY| 248,250 188,250 60,000
401 Al&HIZ 20| 170,000 110,000 60,000
01 Al&HI 170,000 110,000 60,000
Ot (=Hd) 32 FEIMS(SRATHEHE
i) 60,000,000 60,000 0 60,000
SAHEEZIE 50,000 0 50,000
401 Al&HIZ 20| 50,000 0 50,000
01 Al&HI 50,000 0 50,000
ONE g B&5& e I NXtZ A XA
THEAIEZE 2 AAIEH)
50,000,000 50,000 50,000
HMTIRQHTE THAY 200,000 200,000
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A NS L&
Az T AITHAY
=Pl ASHIISS AR Y (G M)
S - B - 2I(B)H) - HRA - BES Ol o ol =) e GmE=l
£ 200,000 0 200,000
401 Al&HIZ 20| 200,000 0 200,000
£ 200,000 0 200,000
01 Al&HI 200,000 0 200,000
ONEE ZAHEEZ BIRAEE &4
200,000,000 200,000 0 200,000
£ 200,000 0 200,000
SO|0IE ST A HE A EEHI 250,000 220,000 30,000
401 Al&HIZL 20| 250,000 220,000 30,000
01 Al&HI 250,000 220,000 30,000
O&HE X2l EE0te TAHEAIE DIES
X 24t 30,000,0002! 30,000 0 30,000
SAIEESIAS 2,998,784 2,448,784 550,000
401 Al&HIZ 20| 2,998,784 2,448,784 550,000
01 Al&HI 2,990,000 2,440,000 550,000
O&td XI2lX+ =2 AR
250,000,000 250,000 0 250,000
Odlet X270t =X ZEAS
300,000,000& 300,000 0 300,000
ANEH SATHAY =0I=RALS 105,000 60,000 45,000
401 Al&HIZ 20| 105,000 60,000 45,000
01 Al&HI 105,000 60,000 45,000
OAIE A2l EAIHEEE QIS REAY
45,000,000 45,000 0 45,000
AIOHH CAITHA =0I=sRIALY 270,000 230,000 40,000
401 Al&HIZ 20| 270,000 230,000 40,000
01 Al&HI 270,000 230,000 40,000
O3RX570ts SEZHISA
40,000,000 40,000 0 40,000
SATHE =S AIS 1,642,777 1,639,177 3,600
== 6,000 6,000 0
= 1,636,777 1,633,177 3,600
METD TAIHAEXIRME 22| - 22 103,777 100,177 3,600
201 L2 3| 29,080 25,480 3,600
01 At22t2ltl 18,280 14,680 3,600
OSAIHMMIE 22| 18,280 14,680 3,600
0 AITHA B200H EE22E MA|
400,0002%9& 3,600 0 3,600
SENL A 22,561,089 23,666,224 1,105,135
= 8,601,000 9,339,000 738,000
== 1,641,500 1,862,500 A221,000
= 12,318,589 12,464,724 146,135
SENLAI 1,111,124 767,224 343,900
SEINLAE 2 595,124 467,224 127,900
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2EA Xges
M SENLA

Rl SEINEAL

SH - BB G(3) - AR - LS O o ol 3 o IRz
201 L2 3H| 166,680 148,680 18,000
02 3324l 139,200 121,200 18,000
OLEsAMAHENLAIYE ESAIEE 333
2,500,000 12 30,000 12,000 18,000
207 HAIHEH| 20,000 0 20,000
01 ¢21E4H| 20,000 0 20,000
Od=sZE RIS 2HAE S2AY
20,000,0002 20,000 0 20,000
301 LetEEZ 9,900 0 9,900
11 AHIXIRAZ 9,900 0 9,900
O=ZE8&id 2¢ 9,900 0 9,900
O==SEEYH &AXt Al
9,000 *4021%5JH0H 233 5,400 0 5,400
Is=SELYH 2435 300, 000%153] 4,500 0 4,500
401 Al&HIZ 20| 351,944 271,944 80,000
01 Al&HI 350,000 270,000 80,000
OZESKT SAHHSIHLAIEE FAIZCIA
5] 150,000,000 150,000 100,000 50,000
O SHERSHIH =8 =IE A
150,000,000 150,000 120,000 30,000
LBLSMHEINL A GIHIH=E & 16,000 0 16,000
207 AIHLEH| 16,000 0 16,000
01 ¢21E4H| 16,000 0 16,000
ORH JIZMENF LAY O-IH= =
Y 29 16,000, 0002 16,000 0 16,000
SN+ tHRIEE A 200,000 0 200,000
401 Al&HIZ 20| 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OFelX+ HRIZSEA
200,000,000 200,000 0 200,000
LBs AHEINLALS 21,449,965 22,899,000 1,449,035
= 8,601,000 9,339,000 738,000
== 1,641,500 1,862,500 A221,000
= 11,207,465 11,697,500 490,035
N2 ESLSAISE (SEF ) 426,965 400,000 26,965
= 280,000 280,000 0
== 36,000 36,000 0
= 110,965 84,000 26,965
101 eIt 143,994 117,029 26,965
= 81,917 81,917 0
== 10,532 10,532 0
= 51,545 24,530 26,965
04 JI2HHI22 RS2+ 143,994 117,029 26,965
SEHAXZHEH 29 224HI(AIRJ) 26,965 0 26,965
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2EA Xges
X SENLAY

&2l ABES A EINE AL (CHel: & 2l)
SN - F A= 04l v ol = o HimE==]

Ok 80,2403 *121+240 19,258 0 19,258

0=t 80,240 %1Q1x522! 4,173 0 4,173

0AX == 80,2402 %101x10L 803 0 803

0=2eIz 24,232 ,48021%4 . 5% 1,091 0 1,091

022 24,232,480 *3. 545% 860 0 860

&I |ILAUEH 859,040 %12.95% 112 0 112

onE=2e 24,232, 4802 %1 . 75% 425 0 425

0 THEH 24,232 ,48021% 1. 0% 243 0 243

ASH I ZMEHEZHAML (2HH) (sEEL) 293,000 294,000 A1,000

as 206,000 206,000 0

o= 26,000 26,000 0

= 61,000 62,000 A1,000

403 XXIHMS 293,000 294,000 A1,000

s 206,000 206,000 0

o= 26,000 26,000 0

= 61,000 62,000 A1,000

02 37| 2| 293,000 294,000 A1,000

Odlsd® Dl 2N

293,000,000 293,000 294,000 A1,000

as 206,000 206,000 0

== 26,000 26,000 0

= 61,000 62,000 A1,000

SES2HEHIA 9,250,000 10,725,000 1,475,000

s 3,125,000 3,863,000 A738,000

= 937,500 1,158,500 221,000

= 5,187,500 5,703,500 A516,000

403 XEXIEHX 9,250,000 10,725,000 1,475,000

s 3,125,000 3,863,000 738,000

= 937,500 1,158,500 221,000

= 5,187,500 5,703,500 A516,000

02 SI12SOICHEHAE |EFAIHI 9,250,000 10,725,000 1,475,000

OtlsH [AFS

6,250,000,0002 6,250,000 7,725,000 1,475,000

s 3,125,000 3,863,000 738,000

= 937,500 1,158,500 221,000

= 2,187,500 2,703,500 A516,000

or & =18k 0N 1,158,156 864,104 294,052

= 48,760 11,800 36,960

s 110,000 75,000 35,000

o= 48,292 53,320 25,028

= 951,104 723,984 227,120

SE FHEZMA 730,804 650,004 80,800

s 110,000 75,000 35,000
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A NSYEDt
M F=HOHE Y F=HE-ENH
e s& FHEZNS EERE))
S - B - 2I(B)H) - HRA - BES Ol o ol =) e GmE=l
= 40,500 49,500 29,000
= 580,304 525,504 54,800
AR RS 44,400 48,000 A3,600
201 L2 3| 9,800 13,400 A3,600
01 At22t2ltl 8,480 12,080 A3,600
O35t JIsaEse o 0 2,400 A2,400
O33R &=L gl 0 1,200 1,200
BIEHH| AL 15,000 30,600 15,600
== 4,500 13,500 29,000
= 10,500 17,100 26,600
402 QIZ2EXH201 A 15,000 30,600 15,600
== 4,500 13,500 29,000
= 10,500 17,100 26,600
02 QIFXHEAISEE (01X ) 15,000 30,600 15,600
OBIE MY (BAES) 15,000 30,600 15,600
02EHE BIE HHI(EHA)
2.000,0002+3S 6,000 19,200 213,200
== 1,800 9,000 AT,200
= 4,200 10,200 26,000
O0ZCOIEXIZ BIE HUI(EH)
1,000,000&*9= 9,000 11,400 A2,400
== 2,700 4,500 A1,800
= 6,300 6,900 2600
BIEAHIAIY (XISAL) 158,000 108,000 50,000
= 110,000 75,000 35,000
= 48,000 33,000 15,000
401 Al&HIZLLOHY] 158,000 108,000 50,000
= 110,000 75,000 35,000
= 48,000 33,000 15,000
01 Al&HI 158,000 108,000 50,000
OBIY S| A 7,900, 0002+20= 158,000 108,000 50,000
= 110,000 75,000 35,000
= 48,000 33,000 15,000
SSTE KI2AAI (RERIALR) 150,000 100,000 50,000
402 QIZ2EXH201 A 150,000 100,000 50,000
01 QI2FXHEAIE S T (KM ) 150,000 100,000 50,000
OMEZ S8 2| N A
50,000, 00026 SHX|%50% 150,000 100,000 50,000
I &Y A= & 0 70,000 A70,000
401 Al&HIZLLOHY] 0 70,000 A70,000
01 Al&HI 0 70,000 A70,000
ORIdZHIHE =8 & o 0 70,000 A70,000
Al AIHHARA H Y JA=F7 A 70,000 0 70,000
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SN
X XH -
(=

ol -
El'T- S

X2 D}
O & FHEAINM

2A - Z3H - A(3) - MRAKY - BES Oil &k Il & o Hns2
401 Al&BIL20HY] 70,000 70,000
01 AIZHI 70,000 70,000
OUAl AOHHAIRA BHHl L sSX Hat=p
70,000,000 70,000 0 70,000
2222 240,000 80,000 160,000
I ERIEIEY] 95,000 80,000 15,000
401 Al&BIL 2 0HY] 90,000 75,000 15,000
01 AIZHI 90,000 75,000 15,000
Og - ¢ A 342 HAILH &R
15,000,0002 %674 A 90,000 75,000 15,000
SAZIAY X 45,000 0 45,000
401 Al&BIL20HY] 45,000 0 45,000
01 AIZHI 45,000 0 45,000
OZ2 HAAIE SEA
15,000,000 30l A 45,000 0 45,000
CE28 28 202 FH| A2AY 100,000 0 100,000
401 Al&BIL20HY] 100,000 0 100,000
01 AlZHI 100,000 0 100,000
OZ2H 28 DS HH| XA
50,000,000 *2IH A 100,000 0 100,000
FHEX 187,352 134,100 53,252
= 48,760 11,800 36,960
[ 7.79% 3,820 3,972
= 130,800 118,480 12,320
SAIADT TIGhAF M2ICHE OIXKIS AR 4,000 0 4,000
[ 1,200 0 1,200
= 2,800 0 2,800
402 DI2HAH=20(E 4,000 0 4,000
[ 1,200 0 1,200
= 2,800 0 2,800
02 QIFXHEAIIE R (O A THL) 4,000 0 4,000
02025 MAIADITIGHKH MelthS Ol XFAI
A 400,000 #2701 2+5% 4,000 0 4,000
[ 1,200 0 1,200
= 2,800 0 2,800
SEFOHE=IINM AL 46,200 0 46,200
= 36,960 0 36,960
[ 2,772 0 2,772
= 6,468 0 6,468
402 DI2HAH=E0(E 46,200 0 46,200
= 36,960 0 36,960
[ 2,772 0 2,772
= 6,468 0 6,468
03 QI2FR(EFALIH] 46,200 0 46,200
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SN

X{XH -
o=

B2l FAHEX (G M)
SA - Z2 - 2A(3H) - MPA - BES Ofl &K 3N Hws2
OsSEFAHE FHMHEA
6,600,000 +7 2t 46,200 0 46,200
= 36,960 0 36,960
== 2,772 0 2,772
= 6,468 0 6,468
MASHS LdUESS XAM (T XI2AY) 13,552 10,500 3,052
501 X= 13,552 10,500 3,052
01 eIt X= 13,552 10,500 3,052
OMAEHE dUHESS N
6,776,0002%20}32 13,552 10,500 3,052
PN = D el e 5,151,100 4,701,660 449,440
= 1,684,000 1,684,000 0
== 178,000 162,000 16,000
= 3,289,100 2,855,660 433,440
XS MEHA e 2,335,000 2,337,000 22,000
s 1,684,000 1,684,000 0
== 178,000 162,000 16,000
= 473,000 491,000 18,000
ASXT sHE FHAXYG MEOH HEZAL (MS0t 600,000 601,000 1,000
SAH)
= 440,000 440,000 0
o= 48,000 48,000 0
= 112,000 113,000 21,000
403 MXIHHSA=01H 600,000 601,000 21,000
s 440,000 440,000 0
o= 48,000 48,000 0
= 112,000 113,000 21,000
02 S 12S0ItHe X=X IEAIZHI 600,000 601,000 21,000
oasi? = ’EJ’S FAIS A20I2 A
A (MS0HSAIY) 600,000,000 600,000 601,000 21,000
s 440,000 440,000 0
o= 48,000 48,000 0
= 112,000 113,000 21,000
LEXT SHE FHAUXA MEHA HEAL (MS0t 354,000 354,000 0
SAY)
= 214,000 214,000 0
o= 23,000 23,000 0
= 117,000 117,000 0
401 AIEHIZL 200 0 354,000 354,000
= 0 214,000 A214,000
e 0 23,000 £23,000
= 0 117,000 A117,000
01 Al&tl 0 354,000 A354,000




RPN =St
g Ngag)|gtxy
SRl FRIS MBI I CEERE)
SA - Z2 - 2A(3H) - MPA - BES Ofl &K 3N HwES2
OEXNT SHEFHAXS MEH HEZAL
H(MEOH2AY) 2 0 354,000 /354,000
= 0 214,000 /214,000
[ 0 23,000 /23,000
= 0 117,000 A117,000
403 AXIEHSAH=0IE 354,000 0 354,000
s 214,000 0 214,000
[ 23,000 0 23,000
= 117,000 0 117,000
02 BI 12 S0 CHEEARZ A 2 EF A I 354,000 0 354,000
OLEXIZ +01’E%‘5| NS M0 JHZAL
(M S0HSAIY) 354,000,000& 354,000 0 354,000
s 214,000 0 214,000
[ 23,000 0 23,000
= 117,000 0 117,000
g?m? = [QFXIS MBI JHZ AL (AHE0E 499,000 500,000 1,000
= 373,000 373,000 0
< 38,000 22,000 16,000
= 88,000 105,000 17,000
403 AXIEHSAH=01E 499,000 500,000 1,000
s 373,000 373,000 0
[ 38,000 22,000 16,000
= 88,000 105,000 17,000
02 BI 12 S0 CHEEARZ A 2 EFAIS I 499,000 500,000 1,000
ORIOFXI 2 +01’E%‘5| NS M0 JHZAL
A (ME0SANY) 499,000,0002 499,000 500,000 A1,000
s 373,000 373,000 0
[ 38,000 22,000 16,000
= 88,000 105,000 17,000
SAHENLAIS (AITFAIY) 2,757,140 2,305,700 451,440
DISEHED| TEIHLAI (HEALY) 2,401,440 2,000,000 401,440
1T AIEHIZ S0 2,401,440 2,000,000 401,440
01 Al&H| 2,392,800 1,992,800 400,000
OAIEE SA0EEHSD|
400,000,000 400,000 0 400,000
03 AI&S0HY 8,640 7,200 1,440
OO0ISeSIIAIY S0l
2,400,000, 00024*0.36% 8,640 7,200 1,440
OISEHSIIAIEE =HEHIAY 250,000 200,000 50,000
401 Al2BIL20HYI 250,000 200,000 50,000
01 Al&H| 250,000 200,000 50,000
02025 OFSEHS)| AFHE =B EH|
250,000,000 250,000 200,000 50,000
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A= rSin
M PSS (XFLAD)

A RPN} (ESRSE))
SA - B SA(SA) - NRAYS - BES Ol h ol F o HimE==}
MNPES(RGLE) 36,285 0 36,285
S&X=E 36,285 0 36,285

EN= Ll = 36,285 0 36,285
802 Btat=DIEt 36,285 0 36,285
01 =2Xx38E3 22,015 0 22,015
02024 ZONQISEIN ALY ESHEH (OIXt
mah) 14,7302 15 0 15
OSAITHHEAISE (RlsSUlaelD]) & SEroH(
Ol Xt S 22.000,0002 22,000 22,000
02 Al - SHIEZ=ZBHE= 14,270 14,270
020244 CPTEDD 1Y &2 orAlZS2 THAY
EISH KO (0| KFELE) 463,000 463 0 463
02024 HAMIADITIGHAH M2ItHE Ol XHXI&
A j"3”7“0”(0|XHT£§*) 1,209,000 1,209 0 1,209
02024 ZOHQIZ=EHINEALY EISHEHH(OIXE
Z8) 4,4102 5 0 5
OFNFAHZS OlAH] KIZAIY &S ZroH(
OIRtEE) 805,000 805 0 805
02023 MSUXS TAMWM ADED|E X
2IAtE Okt 214,000 214 0 214
020244 S8 S THES KIAIY TEHRHH
(OIXtZS) 31,0002 31 0 31
020244 B3 HAIAIE ESAY ZEH(O
XIZE) 100,000 100 0 100
O2022@ FXIS==8 SENAIL SSAHE &
SZHOH (0| KIEL &) 1,971,000 1,971 0 1,971
OSAlITHAAIS (RelSUIARIDN) & EEHH(
OIXt &) 6,000,0002! 6,000 0 6,000
02024 BIEIEHIAIY EIHTH(OIXIEE)
3,472,000 3,472 0 3,472
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